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In Ratio Analysis, the term Capital Employed refers to:

(1) Equity Share Capital
(2) Net worth

(3) Shareholders' Funds
(4) None of the above

DU PONT Analysis deals with:

(1) Analysis of Current Assets

(2) Analysis of Profit

(3) Capital Budgeting

(4) Analysis of Fixed Assets

Which of the following does not help to increase
Current Ratio?

(1) Issue of Debentures to buy Stock

(2) Issue of Debentures to pay Creditors

(3) Sale of Investment to pay Creditors

(4) Avail Bank Overdraft to buy Machine

XYZ Ltd. has earned 8% Return on Total Assests of Rs.
50,00,000 and has a Net Profit Ratio of 5%. Find out the
Sales of the firm.

(1) Rs. 4,00,000 (2) Rs.2,50,000

(3) Rs. 80,00,000 (4) Rs.83,33,333

XYZ Ltd. has a Debt Equity Ratio of 1.5 as compared to
1.3 Industry average. It means that the firm has:

(1) Higher Liquidity

(2) Higher Financial Risk

(3) Higher Profitability

(4) Higher Capital Employed

In case of Net Income Approach, the Cost of equity is:

(1) Constant
(3) Decreasing

(2) Increasing
(4) None of the above

NOI Approach advocates that the degree of debt
financing is:

(1) Relevant (2) May be relevant

(3) Irrelevant (4) May be irrelevant

In MM-Model, irrelevance of capital structure is based
on:

(1) Cost of Debt and Equity

(2) Arbitrage Process

(3) Decreasing ko

(4) All of the above

Which of the following assumes constant kg and K.?

(1) Net Income Approach

(2) Net Operating Income Approach
(3) Traditional Approach

(4) MM Model

Residuals theory argues that dividend is a
(1) Relevant Decision
(3) Passive Decision

Which of the following is a liability of a bank?

(1) Treasury Bills
Commercial papers
Certificate of Deposits
Junk Bonds

(2) Active Decision
(4) Irrelevant Decision

(2)
3)
(4)
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Commercial paper are generally issued at a price

(1) Equal to face value

(2) More than face value

(3) Less than face value

(4) Equal to redemption value

The basic objective of Tandon Committee
recommendations is that the dependence of industry
on bank should gradually:

(1) Increase (2) Remain Stable

(3) Decrease (4) None of the above

Beta, B, of risk-free investment is
(1) Zero (2) 1
(3) —1 (4) None of these

Which of the following is diversifiable risk?

(1) Inflation Risk (2) Interest Rate Risk
(3) Seasonal Risk (4) All of the above

Which of the following describes the relationship
between systematic risk and return?

(1) Arbitrage Pricing Theory

(2) Capital Assets Pricing Model

(3) Harry Marketing Model

(4) Capital Market Line

Expected Return on the market is 16% and Risk free
rate is 6%, which of the following projects be accepted.
(1) A:p=0.50, Return = 11.5%

(2) B:p=1.25 Return = 18.0%

(3) C:p=1,Retun=15.5%

(4) D:p =2, retun =25.0%

If the intrinsic value of a share is less than the market
price, which of the statement is the most reasonable?
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(1) That shares have lesser degree of riskwww.previouspapers.in1) & &3 § &5 Aifgd 2ar 2

(2) That market is over valuing the shares
(3) That the company is high dividend paying
(4) That market is undervaluing the share

A fixed asset originally acquired for Rs. 20,000 is re-
placed by a new asset. The estimated cost of the
replacement of the original asset is Rs. 30,000. The
sale proceeds of old material amounted to Rs.
2,000.Hence, the revenue charge equals

(1) Rs. 28,000/- (2) Rs.18,000/-

(3) Rs. 30,000/- (4) Rs 10,000/-
Reinsurance premium is shown:

(1) On the debit side of revenue account

(2) On the liability side of the balance sheet

(3) As deduction from the premiums on the credit side of
the revenue account.

(4) None of the above

The project is selected while using cost benefit ration

when cost benefit ratio is

(1) Lessthan1

More than 1

Equal to 1

More than —1 and less than 1

(2)
3)
(4)
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According to rule of 72 the doubling period under
compounding is obtained by 72 by interest rate
(1) Adding (2) Dividing

(3) Subtracting (4) Multiplying

When the cash flow occur at the end of each period
the annuity is called

(1) Deferred annuity
(3) Earned annuity

is the approach which measures the stand
alone risk of the project

(1) Corporate Risk Analysis

(2) Market Risk analysis

(3) Break Even Analysis

(4) Intrinsic Value

Dividend Payout Ratio is:

(1) PAT Capital

(2) DPS +EPS

(3) Pref. Dividend = PAT

(4) Pref. Dividend + Equity Dividend

Which of the following is not applicable to commercial
paper

(1) Face Value (2) Issue Price

(3) Coupon Rate (4) None of the above
Annuity method has the advantage of reducing the
value of the asset to

(1) Zero www.previouspapgs.in

(3) Salvage Value (4) Cost

Accounting standard 9 is related with

(1) Amalgamation
(3) Fixed assets

Material usage Variance is the difference between
standard quantity and actual quantity multiplied by:
(1) Cost price

(3) Standard Price

The decision to continue or close the operations of
business can be done by the way of

(1) Opportunity cost analysis

(2) Differential cost analysis

(3) Time Value of Money

(4) None of the above

(2) Annuity due
(4) Accrued annuity

(2) Revenue Recognition
(4) Depreciation

(2) Marginal price
(4) Discounted price

It is assumed that in method whatever units

produced are sold

(1) Standard Costing
(2) Incremental Costing
(3) Differential costing
(4) Marginal Costing

The term system refers to a single accounting
system which contains both financial and cost accounts:

(1) Integrated accounting
Double entry
Reconciliation Accounting
None of the above

(2)
)
(4)
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If there is any balance in the capital reduction account
after writing off all the accumulated losses, then the
same is transferred to:

(1) Share capital account

(2) Capital reserve account

(3) General reserve account.

(4) Preliminary Expenses account

Concept of Maximum Permissible Bank finance was
introduced by

(1) Kannan Committee
(2) Chore Committee
(3) Nayak Committee
(4) Tandon Committee

A firm has EBIT of Rs. 50,000. Market value of debt is
Rs. 80,000 and overall capitalization rate is 20%.
Market value of firm under NOI Approach is:

(1) Rs. 2,50,000

(2) Rs. 1,70,000

(3) Rs. 30,000

(4) Rs. 1,30,000

The market which helps commercial banks to maintain
their SLR requirement is:

(1) Call Loan Market www.previouspapers.in
(2) Discount Market

(3) Acceptance Market

(4) Commercial Bill Market

Speculators who neither buy nor sell securities in
market but still trade on them are called:

(1) Wolves
(2) Stags
(3) Lame Ducks
(4) Bears

In financial lease bears the risk of obsolescence:

(

1) Lessor
(2) Lessee
(3) Leasing intermediary
(4) Seller

The facility offered to investors to shift from one
scheme to another under the same fund is called

(1) Roll over facility
(3) Reissue Facility

(2) Repurchase facility
(4) None of the above

In India debt securitisation has been pioneered by:

(1) State Bank of India
(2) ICICI Bank
(3) Citi Bank

(4) HSBC

The predetermined price at which an underlying asset
has to be bought or sold in an option contract is called
(1) Option Price

Exercise Price

Spot price

Future Price

(2)
3)
(4)
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A business has the following items in its accounts at
its year end 31 December 2012

Opening stock at 1 January 2012 Rs. 5000
Closing stock at 31 December 2012 Rs. 10000
Purchases for 2012 Rs. 90000
Purchase returns in 2012 Rs. 2000

Which is the correct figure for cost of goods sold in
20127

(1) Rs. 85000. (2) Rs. 83000.
(3) Rs. 95000. (4) Rs. 93000.

XYZ Ltd has a net profit before tax of Rs. 267 000,
taxation amounts to Rs. 87 000, a dividend on ordinary
share capital of Rs.45 000 has been declared and the
company will transfer Rs. 50 000 to a capital reserve.
What is the retained profit figure for the year?

(1) Rs. 180000
(2) Rs. 135000
(3) Rs. 85000
(4) Rs. 267000

An ordinary share dividend is:

(1) Part of the company profits used to reward the
shareholders for their investment.

Interest on money lent to the company by its
shareholders. www.previouspapers.in

An expense of running the company.

The directors’ remuneration.

()

()
(4)

XYZ Ltd has declared an ordinary share dividend of
Rs.200 000 at 31.03.2012.Which of the following
correctly explains the accounting entries for the
dividend at the year end?

Expense in profit and loss account, creditor on the
balance sheet.

Appropriation of profit, reserve on the balance sheet.
Appropriation of profit, current liability on the balance
sheet.

Expense in profit and loss account, reserve on the
balance sheet.

Which of the following statements is true?

The main accounts of a debating society will consist of

the following:

(1) Anincome and expenditure account and a balance sheet

(2) A trading account, a profit and loss account and a
balance sheet.

(3) A profit and loss account and a balance sheet.

(4) A trading account, an income and expenditure account
and a balance sheet.

Cash flow statements are required by:
(1) Company law.

(2) The shareholders of a company.

(3) The auditors of a company.

(4) Financial Reporting Standard No 1.
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XYZ Ltd made an operating profit in 2001 but has
increased its overdraft during the year. Which of the
following factors could explain this?

(1) Taking extended periods of credit from its suppliers.
(2) Additional investment in purchased fixed assets.

(3) Reducing its depreciation charge for the year.

(4) Reducing the period of credit allowed to its customers.

In a cash flow statement a bonus issue will:

(1)
(2)
()

Be included in cash flow from investing activities.
Be included in cash flow from financing activities.
Not appear as no cash flow occurs as a result of a
bonus issue.

Be included as part of cash flow from operations.

(4)
In a cash flow statement the payment of a preference
dividend will:

(1)
(2)
)

Be included under financing activities.

Be included under investing activities.

Be included under returns on investments and
servicing of finance.

(4) Be included under net cash flow from operations.
Activity-based costing uses the term ‘cost driver’.
What is this?

(1) An instruction from management to reduce operating
costs.

An activity which generates a cost.

A fixed overhead absorption technique.

A convenient point in a costing system for the
collection of costs

Which of the following is not a benefit likely to arise

from the implementation of a ‘just in time’ costing

system?

(1) A reduction in ordering costs.

(2) A reduction in raw material stock holding costs.

(3) A reduction in the investment in working capital.

(4) A reduction in production delays as a result of
‘stockouts’

Which of the following categories of costs is likely to
increase following the introduction of a system of total
quality management (TQM) by a business?

(1) Wastage.

(2) Warranty claims.

(3) Recitification of damage caused by faulty products.

(4) Training of employees

(2)
()
(4)

Which of the following potential trigger points is not
normally adopted in backflush costing?

(1
(2)

When the finished units are produced

When the raw materials are purchased and the
finished units are produced

When the raw materials are purchased and the
finished units are sold

When the finished units are sold

)
(4)
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175. What does the following definition best describe: ‘A

176.

177.

178.

179.

180.

181.

182.

system that tracks and accumulates the actual costs
attributable to products from the time that they are
originally conceived until the time that they are finally
abandoned’?

(1) Life cycle budgeting

(2) Life cycle costing

(3) Total product costing

(4) Total absorption costing

Which essential characteristic distinguishes strategic
management accounting from conventional
management accounting?

(1) Itis the sole responsibility of the strategic
management team

It forms part of the strategic planning process
(3) Itincorporates non-financial information

(4) Itincorporates data external to the entity

To which management accounting technique does the
following definition relate: ‘A costing system that enables
the estimated cost of a product to be established’?

(1) Absorption costing
(2) Standard costing

(3) Target costing

(4) Throughput accounting

(2)

Which of the following cost classification methods is
not relevant in decision-making?

(1) Direct and indirect

(2) Fixed and variable

(3) Controllable and non-controllable
(4) Avoidable and non-avoidable

An opportunity cost may best be described as:

(1) The cost of an alternative course of action

(2) The cost of losing an order to a competitor

(3) The cost involved in seeking new opportunities
(4) The cost incurred in training new staff

Which of the following cost classification would be
classified as non-relevant when considering the
temporary closure of a factory?

(1) Direct materials
(2) Fixed overheads
(3) Variable overheads
(4) Direct labour

Which of the following costs is likely to be the
minimum price charged for a special order?

(1) Total direct and indirect cost
(2) Variable cost

(3) Total production cost

(4) Total cost plus a profit margin

What is the ideal transfer price that would satisfy both
the supplying and receiving segment?

(1) Market price

(2) Adjusted market price

(3) Standard variable cost plus the opportunity cost

(4) Total standard cost plus a profit margin
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A limited company is under a legal duty to disclose
information to parties external to the company. To
which of the following groups does this requirement
mainly apply?

(1) Banks (2) Customers

(3) Shareholders (4) Suppliers

Directors of a limited company are under an obligation to?

(1) Send financial statements to employees

(2) Send summary financial statements to all shareholders

(3) File copies of the financial statements with the
registrar of companies

(4) Produce financial statements which are correct in all

respects

A flexible budget is:

(1) One where departmental functional managers are
given discretion over the application of spending limits
One where the budget is permitted to alter to reflect
changes in activity levels

One where managers are given discretion as to the
investigations which are carried out into variances
revealed by budgetary control reports

One which allows departmental managers to design
their own budgetary control Reports

The administration of the budget process in a large

organization is normally the responsibility of:

(1) The board of directors

(2) The audit committee

(3) The chief executive

(4) A budget committee working in conjunction with the
finance function

A sale of Rs. 50.000 to A was entered as a sale to B.
This is an example of _
(1) Error of omission

(3) Compensating error

(2) Error of commission
(4) Error of principle
Concurrent audit is a part of-

(1) Internal check system
(3) Internal audit system

(2) Continuous audit

(4) None

Who is responsible for the appointment of statutory
auditor of a limited company?

(1) Directors of the company

(2) Members of the company

(3) The Central Government
(4) All of the above

Auditor of a ...... company does not have right to visit
foreign branches of the company:

(1) Unlimited liability
(3) Banking

The budget that is prepared first of all is?

(1) Cash budget (2) Flexible budget

(3) Master budget (4) Budget for the key factor
The budget which commonly takes the form of
budgeted profit and loss account and balance sheet is?

(2) Master budget
(4) Cash budget

(2) Manufacturing
(4) Non-profit making

(1) Functional budget
(3) Flexible budget
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200.

201.

Which of the following is true for zero base budgeting?

(1)
()

It reviews a budget from scratch

It provides a solution for overcoming the limitations of
traditional budgeting

It is time consuming

All of the above

3)
4)
Qualitative characteristics are the attributes that make
the information provided in the financial statements
useful to the users. The conceptual framework does
not consider......... as a principal qualitative
characteristic:

(1) Relevance (2) Reliability

(3) Comparability (4) Materiality

If it lacks, it may disturb the comparability quality of
financial statement information:

(1) Materiality
(3) Relevance

(2) Consistency
(4) None of the above

Which method of costing is best suited for mines,
quarries, collieries:

(1) Unit or Single output costing

(2) Job Costing

(3) Batch costing

(4) None of these

In back flush cost Accounting System (JIT) as
compared to traditional cost accounting system, the
number of journal entries to be passed would:

(1) Increase
(3) Remains same

(2) Decrease
(4) None of these

There are two plants A and B. Their fixed costs are: A:
Rs 6,00,000/- ; B: Rs 9,00,000/-. The variable costs per
unit in these plants are: A; Rs 12; and B; Rs 10/-. At
what activity level of units, the entrepreneur will be
indifferent in respect of two alternative plants:

(1) 3,00,000 units (2) 1,50,000 units

(3) 1,00,000 units (4) None of the above

Given : Actual Hour worked: 160 Hours, Budgeted
Hours: 150, Standard Hours for actual Production :
185 Hours, What shall be the efficiency ratio:

(1) 123.3% (2) 106.7%

(3) 115.6 % (4) None of these
During the course of audit of X Ltd, The management
imposes certain very significant restrictions on the
scope of audit. What type of opinion in this case is
appropriate?

(1) Adverse (2) Disclaimer

(3) Qualified (4) Unqualified
Conversion cost is the sum total of:

(1) Direct materials and wages cost

(2) Direct material, wages and factory overheads
(3) Indirect overheads and factory overheads

(4) Indirect material and factory overheads
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203.

204.

205.

206.

207.

208.

200.

210.

Which section of the Companies Act prescribes cost
audit:

(1) Section 233A (2) Section 233B

(3) Section 209 (1) (d) (4) Section 224

The cost auditor submits its report to:

(1) Shareholders

(2) Central Government with copy to company

(3) Board of Directors

(4) Company Law Board

State which of the following statement is false:

(1)
()

Flexible budgeting is suitable for seasonal industries
The concept of standard hours for being used as activity
index is more appropriate than direct labour hours

The classification of expenses into fixed & variable
helps in giving correct allowance of expenses based
on level of activity attained

(4) (2) & (3) both are wrong

A company maintains two cars ie., New and old. Fixed
cost of maintaining the new and old cars are respectively
Rs 38,000/- and Rs 26,000/- per annum. The running cost
per annum for new and old cars are Rs 17,000/- and Rs
32,000/- respectively on 12,000 kms annually. Calculate
the nos. of kilometers per annum at which cost of two
cars will break even:

(1) 25,600 kms (2) 2400 kms
(3) 12,000 kms (4) 9600 Kms

In the case of a contract, the value of work certified -
Rs 5,00,000/-, Cost of work to date is Rs 4,00,000/-,
Cost of work not yet certified Rs 1,00,000/- Material in
hand- Rs 50,000/-. The notional profit shall be:

(1) Rs 1,00,000/- (2) Rs 2,00,000/-

(3) Rs 2,50,000/- (4) Rs 3,00,000/-

)

Standard hours equivalent of work produced
expressed as percentage of actual hours spentin
producing the work may be defined as:

(1) Level of activity Ratio

(2) Efficiency ratio

(3) Standard capacity usage ratio

(4) Actual capacity utilisation ratio

At the close of the year, a company has an inventory
of Rs 1,50,000 and cost of goods sold for Rs 9,75,000.
If the company’s inventary turnover ratio is 5, the
opening balance of inventory will be:

(1) Rs. 2,40,000/- (2) Rs.1,95,000/-

(3) Rs. 3,90,000/- (4) Rs.1,50,000/-

Which one is true for Net Operating Income Approach:
(1) Vo=VF—-Ve (2) VE=VF+Vp

(3) VE=VF-Vb (4) Vo=Vr+ Vg

CVP analysis does not consider:

(1) Level of activity
(3) Variable cost per unit

(2) Fixed cost per unit
(4) Sales mix
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212.

213.

214.

215.
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217.

218.

219.

This measures the efficiency of credit management:

(1) Profit (2) Bad Debts
(3) Average Collection (4) None of these

Equity shares of XY Ltd. held by ABC Ltd. are in the
custody of Stock Holding Corporation of India Limited.
The auditor may verify this investment by -

(1
(2)

Reviewing last year's working papers

Obtaining a certificate from a responsible official of the
ABC Ltd

Obtaining a certificate from SHCIL

Obtaining a certificate from XY Itd

3)
(4)

The amount of dividend declared will have to be
deposited in a separate bank account within:

(1) 5 Days from the date of declaration of dividend
(2) 7 Days from the date of declaration of dividend
(3) 15 Days from the date of declaration of dividend
(4) 21 Days from the date of declaration of dividend

No person can hold office of a director in more than:

(1) 10 public companies at a time
15 public companies at a time
20 public companies at a time
50 public companies at a time

(2)
)
(4)

DIN will be allotted by the Central Government within:

(1) 1 Month from the receipt of application for the same
(2) 3 Months from the receipt of application for the same
(3) 6 Months from the receipt of application for the same
(4) 12 Months from the receipt of application for the same

Under Section 75, whenever a company having a share
capital makes any allotment of shares, it must file a
return of allotment with the Registrar of Companies
within:

(1) 7 Days (2) 15 Days

(3) 30 Days (4) 60 Days

Certified copy of the special resolutions passed in the
meeting will have to be filed with the Registrar of
Companies within:

(1) 30 Days

(2) 60 Days

(3) 15 Days

(4) 7 Days

Section 149(1) provides that in case of a public
company, borrowing powers are not exercisable until
the company is entitled to:

(1) Commence business
(3) Start business

(2) Incorporate business
(4) None of these

Section 125 requires a company to file prescribed
particulars of charge after the date of creation of a
charge with the Registrar of Companies within:
(1) 30 Days

60 Days

90 Days

None of these

(2)
)
(4)
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221.

222

223.
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226.

227.

Change of registered office of a company from one
city to another city in the same State but falling under
the jurisdiction of two Registrars of Companies is
required to be approved by the:

(1) Central Government
(3) Regional director

In a government company, the government
shareholding must not be less than:

(1) 25% of the paid-up share capital

(2) 50% of the paid-up share capital

(3) 51% of the paid-up share capital

(4) 100% of the paid-up share capital

(2) Registrar of Companies
(4) Company Law Board

Which of the following is not a characteristic of a
statutory corporation in India:

(1
(2)

It is owned by the State

lts employees are civil servants and are governed by
government regulations in respect of conditions of
service

It is created by a special law of the Parliament or State
legislature

It is a body corporate and therefore it can sue and be
sued

Forfeited shares can be re-issued by a company by
way of passing:

(1) An ordinary resolution at the general meeting

(2) A special resolution at the general meeting

(3) A Board resolution

(4) None of these

()
(4)

The merger of subsidiary company into its parent
company is called:

(1) De facto merger

(2) Up stream merger
(3) Down stream merger
(4) Reverse merger

When a charge on the assets of a company is created
or modified, which one of the following forms is
required to be filed with the Registrar of Companies:

(1) Form No. 21
(2) Form No. 12
(3) Form No. 8

(4) Form No. 15

All companies to which Companies (Compliance
Certificate) Rules, 2001 apply are required to file with the

Registrar of Companies the compliance certificate within:

(1) 60 Days from the date on which its AGM is held
(2) 45 Days from the date on which its AGM is held
(3) 30 Days from the date on which its AGM is held
(4) 90 Days from the date on which its AGM is held

As per compliances under the listing agreement, the
Audit Committee shall meet in a year atleast:

(1) Two times

Three times

Four times

Five times

(2)
3)
(4)
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Shareholders can apply for winding-up of the company
under section 397 read with section 399 of the
Companies Act, 1956 in case of:

(1) Oppression and mismanagement

(2) Misbehaviour of managing director with shareholders
(3) Company insolvency

(4) Failure to pay debts

Which of the following reflects the correct position
regarding the binding powers of the Central Board of
Direct Taxes (CBDT):

(1) The instructions of the CBDT are binding on the
department and the assessee

Courts are bound by the instructions of the CBDT
The instructions are binding on the department, but
not on the assessee

The instructions by the CBDT may impose a burden
on the assessee

A director appointed by the Board to hold the office
untill the conclusion of next annual general meeting is
known as:

(1) Additional director
(2) Nominee director
(3) Alternate director
(4) Director retiring by rotation

In a listed company with 11 directors, what is the
quorum for the Board meeting:

(1) 2 Directors
(2) 3 Directors
(3) 4 Directors
(4) 5 Directors

An equity share, fully paid will pay a cash dividend of ¥
4 next year. After that, the dividends are expected to
increase indefinitely at 4 percent per year. If the
discount rate is 14 percent, the PV of the stream of
dividend payments is:

(1) T46 (2) T22.22

(3) T40 (4) T 2857

Only ¥ 90,000 are available for investment and
following investment opportunities are being
considered:

PROJECT NPV INVESTMENT
1 ¥ 5,000 310,000
2 ¥ 5,000 < 5,000
3 <10,000 390,000
4 < 15,000 360,000
5 < 15,000 375,000
6 ¥ 3,000 315,000

Which projects should be taken up?

(1) 3 (2) 1,2,4and 6

(3) 5and6 (4) 1,2and5b

Cement Corporation has 100,000 equity shares
outstanding. Its net income is ¥ 750,000, and its P/E is
8. What is the company’s share price?

(1) T30 (2) T40

(3) 50 (4) T60

228.

229.

230.

231.

232.

233.

234.

sigvaes e el & e sifafgw 1956 #1 g 399 &
g ufed 9T 397 # ST N B gEOT $ RIC e B

éiwuﬁﬂj%ww—wﬁ%%:ﬁrqaiam

HUHI T @i

H F1 A€l T BT T

Fret d @ & D= gE HT e (HESe) B A

et @ @@ feafa ofiafem s 27

(1) HEREE % AR 9 AR F-Feid ® a2
()Wqﬁqw@ﬂ? ot grT e

(3) AR o=t o Gt e & g He-Taiidr v 7@t
4) Hﬁﬂ?ﬁﬁ%ﬂﬂéﬂﬁ-ﬁﬂ?ﬁmwwmmo

SFTE AT |ERY 9% B4 9% & o 08 W aH ©A B
fore Hew g g e e @

(1) sfareR Fegs

(2) =fHa Feaw

(3) FFfeaw FRem

(4) F-arl | dai-de 8 arl MeeE

1 Rt dfed gEies S 7 Hew B 4o B Y T
7 27

(1) 2R

(2) 3R

(3) 4w

(4) 5w

TF TUi: U Sael 99T A aY 6.4 F T9s arEd 9ee
AN 6% a6 A 4 9fded ufaay @ & q A a5
951 B HAEAT o1 A qger &Y 14 ufded B @ g g
H 4RI #H PV ERT:

(1) T46 (2) T22.22
(3) T40 (4) T 2857
Ay % T a9 £.90,000 IUweT & 9K a9 & R
g IT fqEw @ o @ oS
RET T (REEU
1 75,000 710,000
2 75,000 5,000
3 710,000 790,000
4 15,000 760,000
5 15,000 ¥ 75,000
6 3,000 ¥ 15,000
FF-91 TESET B F & T =ee?
(1 3 (2) 1,2,4®0 6
(3) 56 (4) 1,205

dre FURIA $ U 100,000 =fEE 99T FHET B g9
fae a1 %.750,000 2 AT g8 /2 8 81 FE H GET

TH T e
(1) *30 (2) T40
(3) ¥50 (4) T60

AICIFIN-132 [A—29]



235. Which one is ‘false’?

236.

237.

238.

230.

240.

(1) Hedging transactions in an active future market have
zero or slightly negative NPVs

When you buy a futures contract, you pay now for
delivery at a future date

The holder of a financial futures contract misses out
on any dividend or interest payments made on the
underlying security

The holder of a commodities futures contract does not
have to pay for storage costs, but foregoes

convenience yield

Average rate of return is a method for assessing the
economic worth of a project. Which of the following is
incorrect about this method?

(1) Itis based on accounting income

(2) It fails to take account of the timing of cash inflows

(3) It fails to take account of the timing of cash outflows

(4) It does not represent the ratio of the average annual
profits after taxes to the investment in the project

Which one is ‘false’ statement?

(1) Net working capital is the working capital acquired with
investor-supplied funds

Operating assets are the cash and marketable
securities, accounts receivable, inventories and fixed
assets necessary to operate the business

Free cash flow (FCF) is the amount of cash flow
available for distribution to investors

Economic Value Added (EVA) is the difference
between after-tax operating profit and the cost of
capital, excluding the cost of equity capital

Which one is not an assumption of the Modigliam-
Miller (MM) theory?

(1) There are perfect capital markets

(2) There are transaction costs

(3) The investors are rational

(4) There is a zero-tax environment

Which one is a ‘false’ statement about ABC analysis?
(1) For ABC analysis, items of inventories should be listed
in decending order of their usage values

The stock-usage patterns for different inventories are
known as ‘distribution by value’

Generally, a small number of items make-up a small
proportion of total value of all inventories

Category B-items are smaller in number than the
number of category C-items

Which one is a ‘true’ statement?

(1)
()

Operating leverage is influenced by technology

Both operating and financial leverages affect EBIT i.e,
earnings before interest and taxes

The less the gap between the price and variable cost,
the less the degree of operating leverage

Financial leverage does not affect the cost of capital

)
(4)
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